Downloaded from http://www.everyspec.com

0519-S-1I
NOLLYDI4ID348
INFWRINIONL

D0 ABZ.

@1 AVHONIV ~H¥3LHVLS

ONINNVNO 193Y]
QUVGNV.LS “AVYIOILLNAVYNOYAY 'MVN‘EDHOJ =1\ 4

.

1200-6262 *oN *foXd.
€ 40 T LIFHS

iaNiv

“€ % 2'T SITAS 4IS SHONVHD HOd (9)

(&) e

a

J s

o

)

®

Q)

CELED AFTER 31 OCTOBER 1967.

— TERMINAL POST .STUDS

THD 3/8-16 NC-3
N 2 REQD
3.L0 MAX RAD:
5.00 MAX DIA
o 3.40 MAX
3 OR 12
TOOTH JAW AS le—— 6.10 Hllt‘——
APPLICABLE 8-16 NC-3 BRASS
v he———— 7.38 MAX ——»~ L Rigé
9.37 MAX WASHER AN935B616
2 REQD
10,18 MAX ————e=y WASHER AN9GOB616
' L REQD
(a) TYPE NUMBERS
DIRECTION
AN SUITABLE FOR
PART NO. CLASS . OF USE ON DRIVE
ROTATION
. AND2000k
ANL116RIA A RIGHT HAND XIV-A
ANL116L1A A LEFT HAND XIV-4
D) oAlEIIERA— + —FEGHPHAND- REVE
b) —pirrores # HAND HE
ANL116RIAL A (1).]| RIGHT HAND poy' Y

NO LONGER USED.

AS VIEHED FROM END OPPOSITE MOUNTING PAD.

TWO-PLACE DECIMALS *

DRIVE, AND WRENCH CLEARANCES, SEE PROCUREMENT SPECLFICATION.
DIMENSIONS IN INCHBS, UNLESS OI'HERH'ISE SPECIFIED, TOLV‘RANCES.

THE AIRPLANE AND SNGINE MANUFACTURER SHALL ALLOW CLEARANCE FOR THE NAXIHUH DIMENSIONS SHO-JN ON THIS DRAWING FOR INSTALLATIONS.
SHEETS 2 AND } ADDED.

.02, THREE-PLACE DECIMALS *.010, ANGLES *2°.

BRUSH INSPRCTION
COVER LATCH ROTATABLE
THROUGH 360°

@

REAR VIEW

6_) ) —PREVIOUR- PART- NUMBERS ANuL16RL, - Lly -R2, I3y  INAGTIVE -FOR DESIGN -AFTER- 17 MARCH ].952- PART--NUNBERS ANul-bORMA, L1A,-R2A, 124, REPLACE.AND ARE INTRRCHANE-
SBLE-WITH-PART- NUMSERS ANLII6R1y L1, R2 AND L2; RESPEGTIVELY.
FOR DEFINTION AND APFLICATION OF DPAWING STATUS NOTES SEE ANA BULLETIN NO. 337.
RELATIONSHIP TC FLANGE MOUNTING HOLES SHALL BE AS INDICATED.
HARDNESS OF ALL STARTTR JAWS SHALL BE ROCKWELL C-L2-5L.
FOR DETAILS OF MOUNTING FLANGE,

APPROVED 3. Jas +5 REVISED (1) 23 Apr k6 (2) 20 Dec 16 (3) 10 Nov 18 (1) 17 Mar 52 (5) 26 Nov 5L (6} 31 0ct 67




Downloaded from http://www.everyspec.com

0519-S~TI

NOILYDIZ1D3dS
ANINZRUNDO0OUD

04 A 82
ONIMNYYD 103410 ‘LIVHONIV -431NVLS
JUVANVYLS TTVOLLNVYNOMIY AAVN-ZOHOL HiV

SO6Z/£1S~10E-L861 "HDILA0 ONILNIMD INIWNHTAOD 5 1.

[

€ 1EEHS

AP NV

2200-5262 *oN *loag

TUD THD 3/8-2L, NF-3

NUT 3/8-2L NF-3, BRASS, 2 REQD

ASHER AN960B616, 2 REQD
IASHER AN935B616

TERMINAL STUDS SHALL BE LOCATED WITH

RESPECT TO FLANGE
SHOWN *15 DEGREES

STUD NO. 10-32 NF-3 oR

10-32 TAPPED HOL% 1/2 INCH
MIN DEUTH BQUALLY SPACED
4 REQD

MOUNTING HOLES AS

-

p— k_,_'hja
T s ) {
1
] -
! 3.563:.883 DA 5,00 MAX
) A Dia
) - =\ .
N 'I [
[l 1 A Vo -
1 L.(62 *.00%
DA 5.0 MAX DIA
3 OR 12 TCATH
JAW AS .031 RAD —F3F: .
AFPLICABLE .
]
BRUSH INSPECTION COVER LATCH SHALL _ N — .50 MAX ,
Egskoggzgnﬂig WSITHER NF THE TWO »35 HIN 188 MIN J* SUITABLE COVER PLATE SHALL
DOSITIONS St E — o +.000 BE SUPTLIED.
1122 vax F—-531_ 015 REAR VIEW
. —e ot 1.000 *.020
(a) TYPE NO. L .500
AN PART NO. SUITABLE FOR USE ON MOUNTING
! CLASS | DIRECTION OF .
SIDE TERMINAL et PAD IN ACCORDANGE WITH
AND200OY
ANL1L6RIFA B RIGHT HAND XIV-A
ANL1IEL3FA B LEFT HAND XIv-4 8.58
\
AN:411ARLFA B RIGHT HAND XIV-E 58 2.2
\(32 i 16LE - B LEFT HAND XIV-E UNOBSTRUCTED TO TH1S
O — - | CEPTH 5
G S8 D RIGHT HAND XIV-B 801 =4 15 RAD
(R QI D LEFT waNp-- | - 7 T yre.a- - ® )
AN LLAREFA c RIGHT HAND XIV-D =
O CLI T em— LEFT HAMB— |- o - 9.58 z.2h i
"6 (b} CANGELED AFTER 31 OCTOBER 1967, NO LONGER USE VIDA A=A
= Xf S VIEWED FROM END OFPOSTTELOOURTING Fabe r USED. -
—
4o}~ BREVIOUE—PART-NUMBERS AN L6RI R PHAU- ANl 1 EL6F TRAGTEY . y - . .
6 el ELOF TNAGTEVE -POR DBGTONAPTER 17-MARGH 1952 -~ PART- NUMBSRS ANLLI6R 3FA THAD AMALLOLOR A, FSRLAGE-ANDARE-
¥y
FCR DEFINITION AND AFTLICATION OF DRAWING STATUS NOTSS, SEE ANA BULLETIN NO. 337.
FGLATIONSHIPS TO FLANGE MOUNTING HOLES SHALL BE AS INDLC.TED.
HARDNESS OF ALL STARTER JAWS SHALL BE ROCKWELL Ceuz-Sl.
FGR DETAILS OF MOUNTING FLANGE, DRIVE, AND WRENCH CLEARANCES, SEE DRAWING ANDIO26L ANL THE SROCUREMENT SPECIFICTTON.
DIMERSIONS IN INCHES. UNLESS CTHERWISE SPECIFIED, TCLERANGES: TWO-PLACE DECIMALS .02, THREE-PLACE DECIMALS *.01s - AKALIS *2°. naE
THE AIRPLANE AND ENGINE MANUFACTURER SHALL ALLOW CLEARANCE FOR THE MAXIMUM DIMENSTONS SHOWN ON THTS DRAWING FOR TMS1ai- 4—1ONe. PRe

APPROVED 10 yov 13 REVISED(1)17 Mar 52 (2) 26 %ov 54 (6 ) FOR CHANGES SEE SHEETS 1,2 AND 3,




1200-§262 *oN *Toag

Downloaded from http://www.everyspec.com

05Ty-S=TIW

NOLLYDIS1D3d8
ANIWNIINOOUD

00 A 82
‘ONINNVYD LO3HIQ ‘1IVHONIV -HILYVLS
QUYANYLS TVDILAYNOYIAV AAVN-ZOHOL diY

£ LAnHS

9l NV

STUD THC 3/8-2l NF-3

NUT 3/8-2L NF-3, BRASS, 2 REQD

ASHER AN9GOB616, 2 REQD
ASHER AN935B616

SHOWN *15 DEGREES

TERMINAL STUDS SHALL BE LOCATED WITH
RESPECT TO FLANGE MOUNTING HOLES AS

STUD NO. 10-32 NF-3 OR

10-32 TAPPED HOL% 1/2 INCH

MIN nvﬁt;gﬂ EQUALLY SPACED
QD .

.38

-

HE—— j

qw

L s
. | +.003
/ 3.563°7058 DIA | 5.00 MAX
— | PIa
A q-‘
- ] - - - = g - -
ped
1 H L.C62 £.005
i DIA 5.00 MAX DIA
® {43 0r 12 TO0TH : _{ :
\| JAA AS —T-3 L031 mp—HF - — - ——-
i AFFLICABLE .
\ — :
BRUSH INSPECTION COVER LATCH SHALL _J PY— - — .50 MAX
BE LOCATED IN EITHER OF THE TWO : .188 MIN e SUITABLE COVER PLATE SHALL
POSITIONS SHOWN U S— +.000 BE SUPTLIED. -
— 531 REAR VIEW
e 1122 MAX — o .015 JoAR FieW
: : od— 1.000 *.020
(a) . TYPE NO. HEX OPTIONA — .500
AN PART NO. . - SUITABLE FOR USE ON MOUNTING
1SS DIRECTION CF P B
SIDE TERMINAL ROTATION PAD IN ACCORDANCE WITH
: AND2000L
ANLLL6RIFA 8’ RIGHT HAND XIV-A
ANLLLELIFA E LEFT HAND -
ANu11ARUFA s RIGHT HAND ))((gis 8:58 2.2l
~ Nl 1R 5 GHT HA - HIS DIA SHALL BE
(&) [bIadhibluFa B LEFT HARD XIV-E UNOBSTRUCTED TO THIS
@ BT — RIGHT HAND XIV-B B0l 24 |5 DEPTH 215 RAD
) b)ANEEALSFA D LEFT HAND- et 11 - R O
ANLALBR6FA C RIGHT HANTD XIV-D T
ORI O T —— -y LEFT HAND— - — - . XIV-D 8.58 .2
® (b) GANCELED APTER 31 OCTOBZS 1967, No [ONCEX USED. VIDH A-a
{a} AS VIEWED FRCM END CPPOSITE MOUNTING FAD, .
@ o)~ PREVEOU 5 PART-RINBERS AN 16 AN L AETEVS FOR-DESTON-AFTER 13- MARGH- 1952--—PART-NUMBSRS -ANut1EA3FA- FHRAY-ANA 1 GLOF o~ REREAGE—AND—ARE-
FOR DEFINITION AND AFTLICATION GF DRAWING STATUS NOT%S, SEE ANA BULLETIN NO. 337.
RZLATIONSHIPS TO FLANGE MOUNTING HOLES SHALL 2T AS INDICATED.
HARDNESS OF ALL STARTER JAWS SHALL BE ROCKWELL C-22-Sk.
FOR DETAILS OF MOUNTING FLANGE, DRIVE, AND WRENCH CLEARANCES, SEE DRAWING ANDLO26L ANL THE PROCUREMENT SPECIFICATION.
DIMENSIONS IN INCHES. UNLESS CTHTRWISE SPRCIFIED, TCLERANCES: TWO-PLACE DECIMALS *.02, THREE-PLACE DECIMALS *.01L, ANGLES *2°. vz
THE ATRPLANE AND ENGINE MANUFACTURZR SHALL ALLOW CLEARATCE FOR THE MAXIMUM DIMENSIONS SHOWN ON THIS DRAWING FGR INSTALLATIONS. N

APPROVED 10 Nov 48 szsm@n Kar 52 (22 26 Nov Sh@ FOR CHANGES SEE SHEETS 1,2 AND 3.




